EARAROBEEIERT — 2 N— IBISH —F

2017437198 (B) 1EIBR#H8H

SOl T R3® KB [EE] B

‘ [R1%] & ‘ [REBE] — | & (%) 1800 B

[A~&£] 1 7% 5,000,000  ~ 23 :2,000,000H 33 :1,300,000 " 43 :750,000 " ~ 5 j& :500,000

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- N (N FXAA :55. 22— . . BEER (BXR)
1H> FAILTy KT 4 3 6.0 1(5_5)5 2-2-2-2 | 37.7| 86.5 1 (4_828) ;EE%E
R:TIRATTaIN By Feror AR
A # 3 | AHEEHR 1:55.7 12-12-7-7 | 37.3 | 84.8 | 2 450 | BIRE (ER)
2 &Y 5 a—-Jvr7rJL ?)%.0 (1 1/4) (-12) KESUF
x> ThHXNAN B:Hraoxy b SzAve ]
5, . . 4 3 | BER 1:55.8 9-7-7-8 |37.5|83.9 | 8 466 | IEILTEH (FR)
3 13 Jai—2XFT b ¥¢55.0 (1/2) o) |BIA
L:7L>FFE2Te B:AHT7z33F kel
S S H# 3 | BERE 1:56.1 12-13-13-11{ 37.0 | 81.3 | 5 450 | RHEETT (FR)
sy 3| *T¥avba>T #55.0 (1 3/4) (g | A
R:FLIARZ N Bik—=rTUy T Htie)
. # 3 | ESEN 1:56.3 5-4-4-4 | 38.3| 78.2 | 10 | 508 |REMEKX (R®)
5/5/9| 7 VEXRE— 56.0 (1 1/4) (-) | WPaFE—
RV RYIUXIR BiAAHAHVETS K B
= . = = 2 4 3 | HEE 1:56.3 3-2-2-2 [38.4|77.5| 6 494 | BEEEHR (RR)
6|5/8| 7171 hTva A53.0 (7€) 6 | @) JTFA—#FTLy R
LN—VFNTyia B:FvI04 NS
—: s ; 4 3 | KIAR 1:56.9 11-11-10-11{ 38.1 | 74.0 | 9 474 | EHRE (BR)
ZH 1| 7>3avsauTr=x a530 (31/2) (-a) | ERAEEL
LI ATA—h— BFTFITLAR =]
# 3 | HBR 1:57.0 | 7-7-12-11 | 87.9| 73.1 | 7 | 484 |BIEF (RH)
81815 AN)—=FZXT—F ¥¢55.0 (3/4) (=) poirac]
RiZT— hFE—A BATERL—> PPN ¢
: AS # o3 | WHEE 1:57.1 3-4-4-5 |39.1| 69.5 | 3 450 | RIEBEN (RR)
9/1]1|EXZ7LI> b A54.0 (1/2) (- | () FrESL-2IFL
R:T7—974=-Z B:J5T)4+—-05 EEL e
5, o S BEE%EtF :57. -1-1- . . =inEE (EH)
10 6l sTYs b 4 3 i 1(757t; 1-1-1-1 [ 39.5| 69.8 | 13 (ﬂg) e
L:JF27048— BEILIZ—FI #wEF 7
A 43 | K 1:57.2 7-7-10-10 [ 38.4 | 71.5 | 12 | 480 |RREE= (RX)
1) 7{12) ¥ =7 A=% 6.0 £) o) |BLEE
R:A—-JXA2 x4 B:bh—t2TNF17T eY 1T 7—L4
. g 3 | dlllEFE 1:57.4 9-10-7-8 |39.1| 66.9 | 11 486 | ALHAEA (FF)
1218 14| 7 v b7 O—=1U— " 56.0 ) Cay | B s-zErx
:yA7% B:TVFq4 AR HAsHt /—-ZELX
= — #Ho3 | et 1:57.4 14-14-13-14{ 38.1| 69.6 | 14 | 484 |#ILLEA (FF)
13&Y 4 | Y7 7d—0b 7550 (7€) o) | ) &<Hav—2
R:id—IWRPY2—I B:TYYTL rhXE— ke
R # 3 | BB 1:57.6 5-4-4-5 [39.6| 65.7 | 4 | 518 |SHEEL (F:X)
1400 7 | VA — RN b 56.0 (1 1/2) (a) | BB
Z2:707x% B:YzAXIZIN J—HrTr—LA
= s 3 | AVATEER 1:59.8 15-15-15-15| 40.2 | 48.6 | 15 | 378 | BE&#H (RXR)
1510 7177 =77 —h 54.0 (514) o | BB
R:F 4L N—H b — B:SE—FFEFR I 45
@ 21 L
£ 51.0-37.9
NA> 24 L | 12.8-11.9-14.3-12.3-13.2-13.1-13.0-12.5-12.4
® 1—F—@EBIERL
13—7F— |6,2(1,8)(7,9) (12,15) (13,14)11(3,5)-4,10
20—7+—  [6(2,8)(1,7,9) (13,12,15)14-11,5,3-4-10
Jo=5r= 6(2,8) (1,7,9) (13,14,5)-(11,12)15-(3,4)-10
40 —F— 6(2,8)9(1,7)5(13,14)-12(11,3,15)-4-10
[ N5
B 2 150/ 714K 2-5 260M e E 2-3 4501 JEE 2-5-13 2,260/
# B 2 110 2-13 610M B = 2<% 450 3EE 2=~ 5,680
5 200H 5-13 1,870H B H 2-5 680M
13 390F9

ABICOVWTRDTEEERROODE. TR LIV,




